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QUESTION 1
An IT enterprise proceeds with an SOA initiative that is based on the creation of a single enterprise service inventory.
However, conflicts arise when different IT departments disagree on who will own the services and how they will be

governed. Which of the following alternative approaches could be chosen to address these conflicts?

A. The top-down approach is chosen. This allows services to be modeled subsequent to their design, thereby enabling
each service to be governed by multiple owners.

B. It is decided to proceed with the creation of multiple domain service inventories. This allows collections of services to
be independently governed by different owners, while still enabling the IT enterprise as a whole to transition toward
SOA.

C. The established "contract last" approach is chosen, allowing different IT managers to focus on contract-related
governance issues after the services are deployed and in use.

D. Because SOA projects absolutely require enterprise-wide standardization and further demand the creation of an
enterprise service inventory, the IT managers have no choice than to cancel the project.

Correct Answer: B

QUESTION 2
Which of the following statements are false? SELECT ALL THAT APPLY

A. Services benefit from up-front analysis because this allows them to be modeled before they are developed and
deployed.

B. Services benefit from design standardization because this supports service-oriented computing goals, such as
Increased Intrinsic Interoperability.

C. Services benefit from a "contract first” approach because this allows the contract to be the first part of the service that
is installed and further enables the contract to be subsequently changed without impact to service consumers.

D. Services benefit from being concurrently invoked by different service compositions because this decreases their
performance requirements while increasing their availability.

Correct Answer: CD

QUESTION 3
Which of the following statements is true?
A. Organizational agility can be viewed as the ability of IT to rapidly produce new legacy applications on-demand.

B. Organizational agility can be viewed as a state whereby the organization increases its responsiveness with the
support of a more agile IT enterprise.

C. Organizational agility can be viewed as a tactical benefit that empowers the organization to respond to new business
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requirements by building new applications from scratch each time.

D. Organizational agility can be viewed as the ability of IT project managers to rapidly replace slow performing
programmers without jeopardizing project delivery schedules.

Correct Answer: B

QUESTION 4

Which of the following statements are true? SELECT ALL THAT APPLY

A. A service inventory establishes a boundary for a collection of services.

B. Service inventories represent collections of related services that are independently standardized and governed.

C. The quantity of services within a service inventory will increase as new services that belong within the service
inventory boundary are delivered.

D. Service inventories are ideally planned and modeled ahead of time via the creation of service inventory blueprints.

Correct Answer. ABCD

QUESTION 5
When you establish a federated service layer, you end up creating:
A. a unified set of service contracts for the benefit of those building service consumers

B. a unified set of service consumer programs for the benefit of those building services to be consumed by those
programs

C. a unified set of service compositions for the benefit of those responsible for defining service inventory boundaries
D. all of the above

Correct Answer: A
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